
DAILY BASIS ASSIGNMENT 

          DAY: MONDAY               CLASS: V                    DATE:27.04.2020  

         

  SUBJECT: ENGLISH 

I. Tick the correct option: 

 

1. What is collective noun? 

a. A word used to describe different verbs. 

b. Nouns that you can collect. 

c. A word used to describe a group of nouns. 

d. All of the above. 

2. What is a group of fish called? 

a. school 

b. team 

c. pod 

d. pack 

3. What is a group of students called? 

a. team 

b. orchard 

c. swarm 

d. class 

4.  What is a group of lions called? 

a. army 

b. pride 

c. gaggle 

d. litter 

5.  What is a group of cows called? 

a. herd 

b. pod 

c. class 

d. crowd 

 

  SUBJECT: EVS 

 

I. Choose the correct answer 

1. Which of these provide(s) food to the baby plant present inside the seed? 

a) cotyledons             b) seed coat                  c) root                       d) stem  



2. Which of these plants has leaves that give rise to new plants? 

a) Dandelion                             b) Rose                                     c) Begonia             d) Carrot 

3. The outer covering of seed is called  

a) embryo                                 b) seed coat                              c) cotyledons             d) seedling 

4.The main function of seed coat is to provide  

a) food                                      b) water                                    c) protection                d) warmth 

5.The other name for seed leaves is 

a) seedling                                    b) cotyledons                             c) embryo              d) seed coat               

 

  SUBJECT: COMPUTER 

I. Choose the best options from those given below: 

i) Without software ________ cannot be used. 

(a)  Hardware   (b) Browser          (c) Website                (d) Data 

 

ii) ________ can be stored and retrieved from floppy disk, hard disk, etc.   

(a) Program  (b) Software     (c)  Both (a) and (b)      (d) Browser 

 

iii) An example of hardware 

(a) Paint  (b) Switches       (c) MS Word        (d) Opera Mini 

 

iv) DOS stands for  

(a) Disk Operating System  (b) Diode Open System   (c) Drone Operating System  

(d) Disk Open System 

 

v) ________ is of no direct use to the user  

(a) Utility Software (b) Storage device   (c) Application Software   (d) System Software 
 

  SUBJECT: MATHS 

 

I. Choose the correct answer 

1. When .............. is added to a number, its value remains same. 

a) 0          b) 1         c) -1         d) 2  

2.  When ............ is added to a number the sum will be the number next to it. 

a) 0         b) 1          c) -1         d) 2 

3. 46328 + 294 = ........... + 46328 



a) 492        b) 942         c) 294        d) 482 

4. 92084 + 0 = .................. 

a) 92083      b) 92085       c) 92008      d) 92084 

5. 3246893 + 1 = ................ 

a) 3246894      b) 3246892     c) 3246893      d) 3246890 

 

 ह िंदी असाइनमेंट 

 

नीचे दिए गए बहुविकल्पी प्रश्नों के सही उत्तर चुने । 

 

 1 ) शब्ि के ककतने भेि होते हैं ?  

क) एक             ख) िो            ग) तीन            घ) चार 

2) अंग्रेजी की लिवप क्या है ? 

    क) िेिनागरी           ख) रोमन          ग) फारसी          घ) अरबी 

3)’ सूयय’ का पयाययिाची क्या होगा ? 

     क) शलश             ख) रवि            ग) धरा           घ) नभ 

4) ‘ििुयभ’ का वििोमार्थी शब्ि क्या है ? 

     क) सुिाभ          ख) अिभ             ग) सुिभ          घ) अन्य 

5) ‘ जो ईश्िर को मानता हो ‘- िाक्यांश के लिए उपयुक्त शब्ि क्या होगा ? 

     क) नास्ततक          ख) भक्त              ग) पुजारी         घ) आस्ततक 

 
विषय – सिंस्कृत      

 

गियांश को पढ़कर ननम्नलिखखत िैक्ल्पी प्रश्नों के उत्तर िें –  

 

सिंस्कृत में तीन पुरुष , तीन िचन एििं तीन ल िंग  ोते  ैं । 

1. पुरुष – ( क) प्रर्थम पुरुष ( ख ) मध्यम पुरुष ( ग ) उत्तम पुरुष 

2. िचन – ( क ) एकिचन ( ख ) द्वििचन ( ग ) बहुिचन 



3. लिगं – ( क ) तरीलिगं ( ख ) पुस्ल्िंग ( ग ) नपंुसक लिगं 

 

ननम्नलिखखत प्रश्नों के उत्तर िें – 
1. संतकृत में ककतने िचन होते हैं ? 

( क ) एक   ( ख ) िो   ( ग ) तीन   ( घ ) चार 

2. संतकृत में ककतने लिगं होते हैं ? 

( क ) तीन   ( ख ) िो   ( ग ) चार    ( घ ) एक 

3. . संतकृत में ककतने पुरुष होते हैं ? 

( क ) चार    ( ख ) तीन    ( ग ) एक   ( घ ) िो 
4. ‘ पठलस ’ कौन पुरुष में हैं ?  

( क ) प्रर्थम पुरुष   (ख) मध्यम पुरुष  (ग) उत्तम पुरुष ( घ ) ख और ग िोनों 
5. ‘ पठस्न्त ’ कौन िचन में हैं ? 

( क ) बहुिचन   (ख) एकिचन (ग) द्वििचन ( घ ) क और ग िोनों 
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